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1. Inacyclotron a charged particle 3. A circular current loop of magnetic
moment M is in an arbitrary orientation
(A) undergoes acceleration all the in an external uniform magnetic field B.
time The work done to rotate the loop by 30°
about an axis perpendicular to its
plane is
(B) speeds up between the dees (A) MB
because of the magnetic field.
MB
® 373
(C) speeds up in dee MB
© 7
(D) slows down within a dee and D) Zero
speeds up between dees
4. In a permanent magnet at room
temperature
: : (A) magnetic moment of each
2. The number of turns in a coil of inolocule {5 20
Galvanometer is tripled, then (B) the individual molecules have
non zero magnetic moment
(A) Voltage sensitivity increases 3 which are all perfectly aligned.
times and current sensitivity © domafns e partiliyaiign ed 7
: (D) domains are all perfectly aligned.
remains constant
<R : 5. Coersivity of a magnet where the
(B) Voltage sensitivity remains ferromagnet gets completely
constant and current sensitivity demagnetized is 3 x 103 Am™!. The
F : minimum current required to be passed
e ey in a solenoid having 1000 tums per
metre, so that the magnet gets
(C) Both voltage and current completely demagnetized when placed
sensitivity remains constant inside the solenoid is
(A) 30mA
(D) Both voltage and current (B) 60 mA
sensitivity decreases by 33% © 3A
(D) 6A
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6.  Which one of the following nuclei has

For a transistor amplifier, the voltage

shorter mean life ? gain
T 4 (A) remains constant for all
dN frequencies
a (B) is high at high and low
frequencies and constant in the
C middle frequency range
B
" (C) is low at high and low
t— frequencies and constant at mid
(A) A frequencies
(B) B (D) constant at high frequencies and
L (© C low at low frequencies
(D) Same for all
In the following circuit, what are P and
7. The conductivity of semiconductor Q?
increases with increase in temperature {
because P
(A) number density of charge carriers
increases
(B) relaxation time increases Q
(C) both number density of charge 2
f:amers and relaxation time (A) P=0,Q=0
increase
(D) number density of current B) P=1,Q=0
carriers increases, relaxation time
decreases but effect of decrease (C) P=0,Q=1
in relaxation time is much less SRR
than increase in number density (B ExLYY
Space For Rough Work
Physics A-1




Downloaded from questionpaperdrive.in

B G i S 12. 39t Speoas ©deadsy BORITS .08
8 Jen (V) =D WS (¥)
55330000053 DT, Z* Foodecd LI Roworss), FeedRod3.
evTodeentdd. b ook oz T‘
SRTFLD A0WeTT SotdTs o3, v
(A) 15m 0 o
Do, NS ons udedy)
(B) 300m Serteedmr  (a) =R wS ()3
x’owommmzbgd?
(C) 15km 1
: - 1
f a
(D) 3km (A) a (B)
S0 g o
] X—>
A~ 1r
t
11. P, Q &% R P38 TJozwranish Wed : . E
v - i sanigd
edodns Oﬁ)&ﬁ@d}t aﬂmooqaq, NS “) 7 x> ®) \ X—
oxns ecd% OTFYREIFWONSRTD ?
o 13. SDoRoHANE I Feamory IS
(A) % Zx-;u we e
TEII, ¥ = x — T3 00T RN,
B) PQ-R a_!,ieak‘! T, Cos Fend)
2
PQ (A) gms‘|
©-F ¢
(B) S5ms™!
C) 25ms™!
PR - Q2 (
LR ©) Zms!
Space For Rough Work
Asl Physics



e

Downloaded from questionpaperdrive.in

~

10. An antenna wuses electromagnetic 12. The given graph shows the variation of
velocity (v) with position (x) for a
waves of frequency 5 MHz. For proper particle moving along a straight line
N
working, the size of the antenna should T
be v
A) 15m a¥e
¢ 0 X =—p
Which of the following graph shows
(B) 300m the variation of acceleration (a) with
position (x) ?
(C) 15km 4 !
t
A) a ®) |
(D) 3km 2 i
X—>
t t
a a
11. If P, Q and R are physical quantities © 4 . (D) S
having different dimensions, which of ; \ on
the following combinations can never
be:a gl sty 7 13. The trajectory of a projectile projected
5 P from Onfxg is given by the equation
R y=x= %" The initial velocity of the
B) PQ-R prolec;ﬂe is
(A) ;ms-'
PQ
© R (B) 5ms!
(C) 25ms™!
PR - Q? 5
(D) R (D) Ems‘l
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i b TOPRORIHT AP Tog s
31 + g
(_1 dj) VOB, T, cdpeNITN o3 -
t =0 IDODTY, TT &, ToPT S[erisy e O3S,

v = (61 - 12) ms™! 309, o Ao ;

RIAG 030 SRS Feridy y-e83 Q3rt @) 2
BRRTOSTTONDIZ ? @i n

(A) Ss (€) n BrodR ZoroFIEY,
(B) 10s 1

(©) 25 ® =

(D) 155

15. oom IWNe erswms dopugade, [ 18 W FEses ooy Soadede,
F9r SONT IR P TORREDY 10.2 eV 33ch) HeoBeoRd. ©ao
c3RETORER FOTEROBE ? oD Baedad  Rossen
(A) 230 Bos 38 TeRro3s.

(B) 43 on0d 8 38 (A) 1.05x 10734 Js
(C)  wi3 xoY Joden (B) 2.11x1034Js
(D) 3 B w3 (C) 3.16x1034Js

(D) 4.22x10734Js

16. TOTOPw'rs i) BT WBROTHRTOD

T deenad , 08695y ¥3B

i 232
S dcomreteoot 19. o Th™? D30ks Bod> BA0D OTTON
Bicinoon, ©ES oDy, deIdcb pPb™, eoon Becusays o = B
%m' ﬁmﬁ#ﬁo&%vﬁ.@m,
(A) 308, A) 3,3
(B) 107" m I=eeend), (B) 6,4
(©) 107" m I@RescY, © 6,0
(D) 10%m I3ReoTE), (D) 4.6
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14. An object with mass 5 kg is acted upon 17. Frequency of revolution of an electron
by a force, F= (-3’i\ + 4]‘) N. If its initial revolving in n™ orbit of H-atom is
velocity at t = 0 is v = (61 — 12}) ms™!, proportional to
the time at which it will just have a 1

: Toh A) 3
velocity along y-axis is n
(A) 5s (B) n
(B) 10s (C) nindependent of n
(C) 2s 1
(D) 15s O &

15. During inelastic collision between two 18. A hydrogen atom in ground state
objects, l“’h“’h ol -0 f"“°“;‘“g absorbs 10.2 eV of energy. The orbital
L wa-ys 1:emams Saeved 1 angular momentum of the electron is
(A) Total kinetic e.:nergy i d by
(B) Total mechanical energy (A) 1.05x 104 Js
(C) Total linear momentum o
(D) Speed of each body ) Zhine Moo i

(C) 3.16x 1073 s ¢
34
16. In Rutherford experiment, for head-on D) 421077
collision of a-particles with a gold
19. The end product of decay of 90'1'11232 is
nucleus, the impact parameter is
KR 5oPb?%. The number of o and P
(A) zero particles emitted are respectively
(B) ofthe order of 1074 m (A) 3,3
-
(C) ofthe order of 1019 m %
©) 6,0
(D) of the order of 10°m (D) 4,6
Space For Rough Work
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20. o0 Heoaiony 10 nm [RTEY, | 2. A Ioonctesads DERHerad ER)
“@RNS. F, e F, wpesane

BT IRYEDT* Y e IR,
WONTNGEQ, e SRR Bowos, T, cdoensSR), IRBeING. BoBeD woeds

TP FI]I A B IS e IR K

evmcdrens odor's Kool

(A) F,=F,
A
NS, IPS T ZJIY T n
B) F,»F, & FC F:IY 7 vmen W
Se3, 303,
© F,«F,
(D) F BRF, 330 37,3008, i
g X
®) 3
21, %.0%) TOBHE INGIIY, i T3 r (€) K
SRIT Fowors FINS TN Enedrd. ®) 2K
AFBBY, WIS Ben ¢ ©ND.
NG, T ¥, DY Eees
1 23. 6000 A 3%on TRUBSY BEOOIN 7
: ST @' Jomoddomon 0.1 A
sinr
T ITNTERTHE, 3,393 50md WS,
30;'1 i g [0 TRT BOCINSTON IFZ,T Fenay,
(A) 30° (A) 25km/s
(B) 45° (B) 10km/s
© 60° (C) Skm/s
(D) 90° (D) 20 km/s
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Two protons are kept at a separation of
10 nm. Let F and F, be the nuclear

force and the electromagnetic force
between them

) F.~F
(B) F.,»F,
O E, &P,

(D) F,andF,_ differ only slightly

22.

In Young’s double slit experiment,
using light of
wavelength A, the intensity of light at a

monochromatic

point on the screen where path
difference is A is K units. The intensity
of light at a point where path

difference is % is

A) K
K
@ 7
21. A transparent medium shows relation
between i and r as shown. If the speed (C©) 4K
of light in vacuum is ¢ the Brewster
angle for the medium is (D) 2K
»
23. Due to Doppler’s effect the shift in
sinr wavelength observed is 0.1 A for a star
producing wavelength 6000 A.
30° 3 Velocity of recession of the star will be
sin i i
(A) 25km/s
(A) 30°
B) 10 km/
(B) 45° ®) 2
©) 60° (C) 5kms
(D) 90° (D) 20 km/s
Space For Rough Work
Physics A-1
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24. O St V. = Vi Qs wowd 26. wom> B203 Rexod Todech B
= A :
IR, AR TR0 §63 B = By 5 x 102 Am? qab3ds w3 50 xE
RQUORER. 533 2w 1) 300nTes, B3 8 x 106 kg m?. :03¢e3, B 59,
(A)  ATmNI 660 $oBROT BBPID 2. TG,
(B) o, smomomon S esome 82038¢3, B o Domneesy,
(C) w Z0TTTN (A) 1.6 x 10T
gasoRr3d
(B) 0.4 x 10T
(D) o=3rdecamdn @) DD
; s (C) 32x107°*T
(D) 0.8 x 10T
25. 3 Ioort s I B0
298> 2.0t B3 Rodede IHDF et 27, wom HAg®, I3 womd doeso'rt 500
VA, §)é T, TOMOTD VoLNS. RDBNISY, BeodT. word Jed 2A
300 53,8 T T, 00 SOBR TTE ST S TR
SnRAmon, 303, G 8 DT, LIROITOOONY, F20e0 38 T0T, 303,
(A) w33
” (A) 0.628 J/m?
(B) ey >3
(B) 0.314 J/m?
(C) eBFEmR3S
(€) 6.28)m?
(D) wBRIBIROJYOY,
(D) 3.14 J/m?
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An electron is moving with an initial

velocity V = Vi and is in a uniform
- A

magnetic field B = Bj. Then its de

Broglie wavelength

(A) remains constant

(B) increases with time

(C) decreases with time

(D) increase and decreases
periodically
Light of certain frequency and

intensity incident on a photosensitive
material causes photoelectric effect. If
both the frequency and intensity are
doubled, the photoelectric saturation

current becomes

26.

27.

A magnetic needle has a magnetic
moment of 5 x 102 Am? and moment
of inertia 8 x 1076 kgm?. It has a period
of oscillation of 2s in a magnetic field

B. The magnitude of magnetic field is

approximately

(A) 1.6x107*T
(B) 0.4x107T
(C) 32x107*T

(D) 0.8 x 10T

A toroid has 500 turns per metre
length. If it carries a current of 2A, the
magnetic energy density inside the

toroid is

(A) 0.628 J/m?

(A) quadrupled
(B) doubled (B) 0.314 J/m?
(C) halved (C) 6.28 J/m?
(D) unchanged (D) 3.14 J/m?
Space For Rough Work
Physics A-1

9




28. WITQDOT womd HSCWIY  TOMEIN.
AOTT Zodne e AB Jododo T
I, 0T wond Je¢ AB
Z03cI), OPF FTT0S 0300003
WHECRATIN F,008 AR, T,TTT

TOT0eY,
SN Chielle U T IS

X

3 R L
x v X i S M
—y

X x X X

X X - G

%
(A)

®)
©
(D)

X X
T3
WERNROY,
Ll elevipl ek ot
OTFR,TB0R  Jododw  deeFn
@R »Tm ©und T, OISY,
rOPYS Hoed T, TR
RO
BFOONITNZT.

29. TonFod :sdoss‘ T80 SRIFIY S0

Downloaded from questionpaperdrive.in

30. 39t 8ok DT,FoBOTY, AT Torne
daw; WOCLIT'S de@or'nisd
308,300,

()
3/
220 V, 50 Hz

(A) 12A,120V

(B) 15A,100V

(C) 2.7A,220V

(D) 22A,220V

3. TR,00PCY, 272,03 ASCLQT TR
Beorish woTER0TD TURT GEAFRVLS.
womd Jed? cnPde TDODTY, LYrid
ESQ) v DD 2v /g, ¢ IIFeD

0088600, 8 13,
Hz. D303 T34, rms 130000 1o i
BoR  Jwden i B @A) 2v
PUARITT),
(A) 5x 1073 (B) aes

2.5x 1073
RS ©) 15v
(C©) 0.02s
(D) 10x1073s D) v
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28. Consider the situation given in figure. 30. The readings of ammeter and voltmeter
The wire AB is slid on the fixed rails . St ;
with a constant velocity. If the wire AB in the following circuit are respectively
is replaced by a semicircular wire, the '
magnitude of the induced current will L ]Cl R=100Q

[L111) ‘ I AN
9 2k e A~ ¥y WY Vc=5°"i O l
¥ .- 3T ppl e S sl e 3¢ (A)
X v X | x x x X @
x X X X 220V, 50 Hz
X X BXx X
S AEL S (A) 12A,120V
(A) increase (B) 15A,100V
(B) remain same (C) 27A,220V
C) d
SoliAIaine (D) 22A,220V
(D) increase or decrease depending
on whether the semicircle bulges
towards the resistance or away ! : yw
from it 31. Two particles which are initially at rest 4
move towards each other under the
action of their mutual attraction. If

29. The frequency of an alternating current dhai s ¥ of TRI
is 50 Hz. What is the minimum time T T
taken by current to reach its peak value then the speed of center of mass of the
from rms value ? system is,

(A) 5x107 (A) 2v
B) 2.5x1073s (B) Zero
(€) 0.02s (C) 15v
D) 10x1073s D) v
Space For Rough Work
Physics A-1
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A particle is moving uniformly along a
straight line as shown in the figure.
During the motion of the particle from
A to B , the angular momentum of the
particle about “O’

(A) increases
(B) decreases
(C) remains constant

(D) first increases then decreases

A satellite is orbiting close to the earth
and has a kinetic energy K. The
minimum extra kinetic energy required
by it to just overcome the gravitation
pull of the earth is

34. A wire is stretched such that its volume

35.

remains constant. The Poission’s ratio

of the material of the wire is
(A) 0.50

(B) -0.50

(C) 0.25

(D) —-0.25

A cylindrical container containing

water has a small hole at height of H =
8 cm from the bottom and at a depth of
2 cm from the top surface of the liquid.

The maximum horizontal distance
travelled by the water before it hits the
ground (x) is

(A) 8cm
(A) K
(©) 13K (C) 4cm
(D) 2\2K (D) 6cm
Space For Rough Work
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Se@dcdne 3oonine DT,
AT B, TN,

(A) ADI3oTIredow
T, 3posntess desnt
(B) Qodes® geszoaon
oo 0308
TRowO st
(C) DRIV, RS IDHODTY,
© QDS er0NPOT Lo Vs
QIIFIN
(D) edow
t5Inle WAL 74t

mYog,
GRS ST

goonivomonos WIves

39. 25 cm TP TROITOHE ), TIFT
o88 e GhHISdr wocd dew
S0~ AT Vs, SN
B3O, JoorEcE WO, AT
&3 1 ms! qI3. t = 0, oA
SH0s ceoy SPFHOeS S0 e
BROROBE. t = 0 I t = 0.25 s
SRS BTOONY, TIFEIDOTO0ERT
WO ITRO Jenay),

V=1ms"!

t=i0 o
10 P

50 cm

‘e
L

D) B,=7'sin(ke-otk (A) 40cms?! (B) 20cms!
©) e, (D) =03
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36. An inductor of inductance L and 38. The phenomenon involved in the
resistor R are joined together in series reflection  of  radio-waves by
and connected by a source of ionosphere is similar to
frequency ®. The power dissipated in (A) reflection of light by plane mirror
the circuit is (B) total internal reflection of light in

air during a mirage
R2 + @?L?
(A) ; (C) dispersion of light by water
molecules during the formation
(B) —-—-—Y-ER-— of a rainbow
Rz + msz - - - -
(D) scattering of light by air particles
V
© R+ol2
39. A point object is moving uniformly
VIR towards the pole of a concave mirror of
(D) V= @ po
: R? + 0?L? focal length 25 cm along its axis as
shown below. The speed of the object
_ _ ) is 1 ms!. At t = 0, the distance of the

37. An electromagnetic wave is travelling object from the mirror is-S0' cin. The
in x-direction with electric field vector average velocity of the image formed
given by, by the mirror between time t = 0 and
s = t=025sis:

Ey = E, sin (kx — ot) j. The correct
expression for magnetic field vector is i Y=l
(A) By =ECsin (kx - ot) ] 5
B) B,=E,C sin (kv— of) k L 50 cm K
E (A) 40cms™!

R | A
(© B,=Tsin(kr—at)j (B) 20cms!

S X (C) Zero
(D) B .= T sin (kx — ot) k (D) Infinity
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40. 200 8BNS TR DS 38° SN, 42° 42. uITO, IpeORHN0E CUFNRS APID
S 62° BReSBY W BB RE Soedd 3% cdrord ABC 8,00
TIITon ddudoto 44° SIS, Tohoody Teodd. IS ot
TG0 wet 8RR dued Beodmon B, TBHOT0 RO FORY,

S T3 EeRDR) ? %
400}-—---4
(A) 30° 1
P(N/m?
B) 40° i
100 }----= C
(C) 49° B, ;
. 5 M
(D) 60 V — (inm?)
(A) 7507

41. 000D mevmom QBOESQ, (B) -12507
SVWONIONS.  FINSIrvd, cIRYd
JOCIPNGS ? (S)- T me

(D) 12501)
(A) 0 °C 2e03 RS woxy) 4 °C
R0 TRI W03 RFCIING, v
B) 0 °C Deos S ekl %0 43. 27 °C o TTRITYLOT wotd Feeo*
w (=]
DeDS TRI ?ﬁféaé’m o MR o R s
: o WRHCHR)  eBONS. 4300
(C) 0 °C 03 TP wey 4 °C MBI, QYOHRARLD | DRt
Qe0S TRFI WO FOTN. 8o
(D) 4 °C 2603 I WO Heeed U
$%,a Red (B) 450R
TOORITONRTO0T B
= (C) 750R
S lamn) sazdd ARz
SNTRIBIT.. (D) 1050 R
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A certain prism is found to produce a
minimum deviation of 38°. It produces
a deviation of 44° when the angle of
incidence is either 42° or 62°. What is
the angle of incidence when it is
undergoing minimum deviation ?

(A) 30°
(B) 40°
(€) 49°

(D) 60°

An aluminium sphere is dipped into
water. Which of the following is true ?

(A) Buoyancy will be less in water at
0 °C than that in water at 4 °C

(B) Buoyancy will be more in water
at 0 °C than that in water at 4 °C

(C) Buoyancy in water at 0 °C will
be same as that in water at 4 °C

(D) Buoyancy may be more or less in
water at 4 °C depending on the
radius of the sphere

42.

43.

A thermodynamic system undergoes a
cyclic process ABC as shown in the
diagram. The work done by the system
per cycle is

r

400 -----

t

P(N/m2)

100 f----5 C

v

5 10
V — (in m?)

(A) 7501
(B) -12501]
(©) -7501
(D) 1250)

~y

One mole of O, gas is heated at

constant pressure starting at 27 °C.
How much energy must be added to

the gas as heat to double its volume ?
(A) Zero

(B) 450R

(C) 750R

(D) 1050 R
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4. oow mapqa [oY  3on3 zSoc'Jr:Ji)zSg,l 47. HZFF* uog.a' NP
(SHM) TROTOT esBoedEBod T, 300N,
T2800000% BTBWODRY, LROWHOD e ROTBROIT
BN, BB BB owsF 3
BroOWNS o o, Too (B) 38 Koo AARII
(A) 1m (C) Rosdert XoTEFw0 AODTOTI),
(B) 0.5m (D) B,TSeES FoTE R0 JTR[I
(C) 1.5m o) o
(D) 0.lm
20T T, BB G103 DT, DS
45.  motoe 30N RAIRy = 2 sin (%] cos TR TR DT T T ToBID
LTSRN & RowogSIY
(48nt). womd Jper Y & 03T eDTE Eneoreans
WIS FRBOS 5,063 FRerNadss 030
(A) 7.5 units
(B) 1.5 units 3V
(C) 22.5 units T
(D) 30 units 5
\%
46. doR douchs DR =eTYRY, 2Q Y
GREGHE Tes TBHITN I,
T8 ), ? 6A
1Q 10 IlinA —
g BNTQ, DR, ERe3T DT, w08
2L 303 19 o8 3ia 2O (emf) Y 0308 TR
1
20 1Y) (A) 3V,20
FRCa B) 3V,0.50Q
(B) 03A
(C) 04A (C) 6V,2Q
(D) 0.1A (D) 6V,0.5Q
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44. A piston is performing S.H.M. in the
vertical direction with a frequency of
0.5 Hz. A block of 10 kg is placed on
the piston. The maximum amplitude of
the system such that the block remains
in contact with the piston is

(A) 1Im

(B) 0.5m
C). 15m
(D) 0.lm

45. The equation of a stationary wave is
y = 2 sin [%] cos (48nt). The

distance between a node and its next

47.

48.

Kirchhoff’s junction rule is a reflection

of

(A) Conservation of current density
vector

(B) Conservation of energy
(C) Conservation of momentum

(D) Conservation of charges

The variation of terminal potential
difference (V) with current flowing
through a cell is as shown

antinode is
(A) 7.5 units t
(B) 1.5 units .
(C) 22.5 units T
(D) 30 units ¥ &
(in Volt)
46. In the given circuit, the current through >
2Q) resistor is b
1Q 1 ImA —>»
1.2 V_J_ e | The emf and internal resistance of the
'|‘ s RO Lo cell are
20 (A) 3V,20
(A) 0.2A
(B) 3V,0.5Q
(B) 0.3A
(C) 04A (C) 6V,2Q
(D) 0.1A (D) 6V,0.5Q
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49. PR IReReLIT* T,cdpenPonod),, 51. 0@ SRemn TIRERY 2 cm ©0308Q,
DT, EeBII), EoeRamor 240 cm VORTINT. ¢ SReTT TYRY IRODI
OB AEREDF HICT) BRODT. DI,F PRPY - 10 V 0y + 30 V
2Q deegsR OB, dreds ZRRmoo3s QUIT. & TR LRIV TNV SRODS
WOPBA, FeOrTON BERed3 2,303 DT, Fe3, Y,

o033 120 cm R wEeaross. n
DT, EREBT €30308 BT, (A) 500 V/m
A) 4Q (B) 1000 V/m
Y- 2 (C) 2000 V/m
©) 1Q

D) 3000 V/
(D) 050 (D) ,

50. JeRBI WITY, ‘O’ Feor,TYTOI 5. A 3 B A S@03 I3 ook

50383, G
| |30 pF
| :
/
e
| 1T
100pF 100 pF A
B
7 Kl S0pF) ) ]
A TR 2t
5 1l (A) 50pF
B 1R
®) pF
3 Kol 3P
© TR
C) 150 pF
™ nl ( p
12R (D) 300 pF
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49. In a potentiometer experiment, the 51. Two metal plates are separated by
balancing point with a cell is at a 2 cm. The potentials of the plates are
length 240 cm. On shunting the cell

; d — 10 V and + 30 V. The electric field
with a resistance of 2Q, the balancing
length becomes 120 cm. The internal between the two plates is
resistance of the cell is (A) 500 V/m
(A) 4Q
B) 20 (B) 1000 V/m
© 1Q (C) 2000 V/m
(D) 0.5Q
(D) 3000 V/m
50. The magnetic field at the centre ‘O’ in
the given figure is
52. The equivalent capacitance between A
and B is,
| |129PF
| 1
i 100pF 100 pF ¢A
i o Ll e
{ A 3R 50 pF | | e
gL
7 5 1l
(B) 12 R (A) 50pF
100
o b ®) 3 pF
) iom
C) 150pF
: I © p
®) 1R (D) 300 pF
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53. C mo0n ZOFFOths poosssy Q
DT, TSeBOOT DT, TOTRATBONG.
2C o0 ma'b@;r&)m adaémaa%—
Re9RE  oUisxy  Seco  poosE
AR RTo0STWoN woReRNT®. &N
Po0EN% oedTOT DT, T EBND,

54. My odd Iny sad @
qduaup‘d DR, TOFeTP  FRROIPNT.
emmaé @ dReand, acbés‘ T, TR
neadecsoNs. DR

55. R0h 30w, 3080 TodNE LRITOIH)
1:3:5 3 ePyne troq’d S30T3Y)
5:3:1. BTG, BJYNY W, CReTH
9R0TOITY),

(A) 1:3:5
(B) 5:3:1
(©) 1:15:125

(D) 125:15:1

56. 2Q Iseeedd DT, T[BB[I) q, X
q, T,SRETY, DOMT. 3BJ03T 20BER
adodmaiesnc’dgt LOTR, eoéo‘m%
BRUNORCONG. word [Jew? & JTES

DT, ToBeBrie! SRS . woR)

(A) 2WRFTE Fosww, WoZF WI &3, Q8mN, o
9
BUEYNT.
(B) admpn odE Jnyk wm (A) 4
TN,
" (B) 2
© faduaup‘u Roao 0T, 3030
SHTRRIT Foedd 93000 STONT. © 1
(D) am,03 To© usamnés (Dcaiggsa‘ .
o) (D) 0.5
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53. A capacitor of capacitance C charged §5. Masses of three wires of copper are in
by an amount Q is connected in the ratio 1:3:5 and their lengths are in
parallel with an uncharged capacitor of A _ _
capacitance 2C. The final' charges on the ratio 5:3:1. The ratio of their
the capacitors are electrical resistance are
(A) %% (A) 1:3:5

3
(B) %? (B) 5:3:1
© 2K (©) 1:15:125
3
4 15-
) %§ (D) 125:15:1
Though the electron drift velocity is 3 e
56. A certain charge 2Q is divided at first
small and electron charge is very into two parts q, and q,. Later the
small, a conductor can carry an charges are placed at a certain distance.
appreciably large current because If the force of interaction between two
(A) electron number density is very Sherges 2 e ten
Q
large g N
9
(B) drift velocity of electron is very
(A) 4
large
(C) electron number density depends N2
on temperature ). 1
(D) relaxation time is small (D) 0.5
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57. m QP00 WS DY q I | 59 ID,QP[I, (V) ovgs Fodmon

TROOTT  word  FRSII)  RSPAR
AR 863, E TQ D79,03 43009830
©I030 BT, IOFREVICONT. y TRS
BT F03T D Vom0 WO o0

(A) qEy?
(B) gqE%
(C) gqEy

(D) ¢’Ey

eRTRY NI FFTY DT

) ()
QFBIR), VWOIRNT. ©n & I
QF0,TY, TRRTTN

(A) wo D z;g,msaagt
OB0PRIT.

(B) wossy ePIWIT ©od
ug,mﬁasgt BP0 .

C) PIII VIPIRIS ©oT
WORFE,.

(D) woﬁagtﬂo (T lamp) ngmﬁasagﬂm
SROPIROPYOL .

ST, LTINS, UI,TY, Toew,
TODRTRY x-8E Hedd MOTSITONS.
gt ok, DX €63, E o a:fod)amg
TOWORAToZ NPT FOCINS ?

»

4+

(in Volt) 24

®:®

) .——6-—--

— e -

a
L

3. Taws
x(inm) —»
(A) E,>Eg>Ec>Ep

(B) E,=E;andEz<Ej
(C) Eg=EpandE, <E.
(D) E,<Ep<Ec<Ep

WOBE)  WRC  BJIeIIOL QTR
@ meSesnd  SEPodn DB, 0D
BRI Rorad. word  Hed
DT,TONT BENY IBODT  0ITBI)

Teipoon dsdxgo:b DT, D23 Fgazw,

(A) cnYcse B FWeBBQ 03
s,

(B) ocinade AQFeBBQ N0
BROIRNIT. 3

© zﬂmﬁwm, (Zlamnn)
saoiRnwEIRD.

(D) cEInyde wEoaSEaIRIPO .

N
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59. The figure gives the electric potential
§7. A particle of mass m and charge q is V as a function of distance through
four regions on x-axis. Which of the
placed at rest in uniform electric field following is true for the magnitude of
the electric field E in these regions ?
E and then released. The kinetic energy
attained by the particle after moving a 1 4T
. . V
distance ¥ is (in Volt) 2 i
1
A)!®):
(A) qEy? ®i.i ©
P i Sh o
(B) qE% x (inm) —>
(A) E,>E,>E-.>E
(©) qEy i Sl
(B) E,=E;and E; <E;
(D) q’Ey
(C) Eg=EpandE, <E_
(D) E,<Ez<E-<Ej
§8. An electric dipole is kept in non-
uniform  electric field. It generally 60. A system of two charges separated by
: a certain distance apart stores electrical
i i potential energy. If the distance
between them is increased, the
(A) A force and torque potential energy of the system,
A) increases in any case
(B) A force but not a torque ) ¥
(B) decreases in any case
(C) A torque but not a force !
(C) may increase or decrease
(D) Neither a force nor a torque (D) remains the same
Space For Rough Work
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